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1oAY 1,325,707| 1,378,460 -52,753
1.4 Fo1drY 5,300 4,800 500
1. FIRZE 5,300 4,800 500
1. AR ZE 5,300 4,800 500
AYA 123223 (H A2 b= :
1R 2T 5,300 4,800 500 (A 1) = e (3 122) 4,400,000
4,400,0009 * 1xl=
2] =% 5= (X &~ H| =% :
(AEA 2325 (Had v=F) 900,000
900,0009) * 1ul=
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1. uSH| S A A= 1,316,107| 1,373,660| -57,553
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7] E-eodH] : -15,987,0009 * 13l = -15,987,000
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A ZVEA XY WEewsadn
( o'jéx\j_l—l‘) ]X]"l ol’]"r*guﬂ—\_ 3 ] 16,800,000
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1.71eb3 A L= 4,300 0 4,300
1.71elEEX 4= 4,300 0 4,300 ifii%aézifip% AHI =G 4,300,000
2. A A ) 432,479| 322,993 109,486
1.3 m a0 428 464| 320,432| 108,032
LAt gy 428,464| 320,432 108,032
1,524 47,797 38,848 8,949
1521 34,842 32,534 2,308 | WA AF A1) 4,350 46T %9.362]= 1,873,000
AADFAH] 4,100 %437 %187 = 32,969,000
2.2 12,955 6,314 6,641 -F32H : -426.859+18,0067 = -7,685,000
$-RFAH] 4309300 160D = 20,640,000
2.} 353t a g E o) 317,280 276,184 41,096
1.4 5 8 maEn) 317,280 276,184 41,096 AFEIZALE : 32,000950 «12Y= 19,200,000
AFEIFALR 1 32,0009159 «12Y= 5,760,000
o] ZFALE 1 32,0009%50 12 = 19,200,000
Jol AR 1 32,0009 5 #12Y= 1,920,000
FARPALALE 1 32,0009) %50 # 129 = 19,200,000
FAFSIA AR 1 -32,0009 %10+ 129 = 3,840,000
SAZALRE 1 -32,0009 %10 129 = -3,840,000
FAZFALR 1 32,0009 %509 12U = 19,200,000
Hlo] - ZALR 1 28,0009 %40 129 = 13,440,000
vlo] S UFALE 1 -32,0009 5 #1289 = -1,920,000
Lot UT|AALE ¢ 28,0009 %50 129 = 16,800,000
SotE 7| AR 1 32,0009 +5M # 129 = 1,920,000
n) S JALE 28,0009 #50 12U = 16,800,000
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